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٤J١א٥٠Lא،אא

א٢٠אאאאא
 ١٠٠٠٠אL٢–א אא א    א א  א

א٢٢٠L٣٠٠٠K


אB=١٠٠٠٠lines/cm٢     A=٢٠x٤٠٠=٢٠cm٢     E٣٠٠٠=١ V     E٢٢٠=٢V            
Φ=BA=٠٤}٠=١٠�٨*٤٠٠*١٠٠٠٠ wb 
E=٤٤}٤fΦN 
E٤٤}٤=١fΦN١                    N٣٣٨=(٠٤}٠*٥٠*٤٤}٤)/٣٠٠٠=١ turns 
E٤٤}٤=٢fΦN٢                    N٢٥=(٠٤}٠*٥٠*٤٤}٤)/٢٢٠=٢ turns 
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٤J٢א٢٥אא٥٠٠א٤٠
אאא٣٠٠٠א،Jאאא–אא

אאJאאאאאJאאאK


אKVA=٢٥   N٥٠٠=١   N٤٠=٢          V٣٠٠٠=١V                             
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